
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

NOTES:
1)  DNI = DO NOT INSTALL

IOUTC1
IOUTC2

IOUTB2
IOUTB1

IOUTA1

IOUTC2

IOUTB1

IOUTC1

IOUTB2

IOUTA2
IOUTA1

IOUTD1
IOUTD2

D
AC

_F
IF

O
_O

ST
R

C
D

AC
_F

IF
O

_O
ST

R

D
AC

_D
AC

C
LK

D
AC

_D
AC

C
LK

C

A1OUT

IOUTA2

D2OUT

D1OUT

C2OUT

C1OUT

B1OUT

B2OUT

A2OUT

IOUTD1
IOUTD2

DA0PSH5
DA0NSH5
DA1PSH5
DA1NSH5

DA3PSH5

DA4PSH5
DA4NSH5
DA5PSH5
DA5NSH5
DA6PSH5
DA6NSH5
DA7PSH5
DA7NSH5

D
AT

AC
LK

P
SH

5
D

AT
AC

LK
N

SH
5

DA15PSH5
DA15NSH5

DA14PSH5
DA14NSH5

DA13PSH5
DA13NSH5

DA12PSH5
DA12NSH5

DA11PSH5
DA11NSH5

DA10PSH5
DA10NSH5

DA9PSH5
DA9NSH5

DA8PSH5
DA8NSH5

SY
N

C
P

SH
5

SY
N

C
N

SH
5

PA
R

IT
YP

SH
5

PA
R

IT
YN

SH
5

FI
FO

_I
S

TR
P

SH
5

FI
FO

_I
S

TR
N

SH
5

FIFO_OSTRC SH4

FIFO_OSTR SH4

DACCLK SH3

DACCLKC SH3

DA3NSH5

DA2PSH5
DA2NSH5

D
B1

4P
SH

5
D

B1
4N

SH
5

D
B1

3P
SH

5
D

B1
3N

SH
5

D
B1

2P
SH

5
D

B1
2N

SH
5

D
B1

1P
SH

5
D

B1
1N

SH
5

D
B0

P
SH

5
D

B0
N

SH
5

D
B1

P
SH

5
D

B1
N

SH
5

D
B4

P
SH

5
D

B4
N

SH
5

D
B5

P
SH

5
D

B5
N

SH
5

D
B1

0P
SH

5
D

B1
0N

SH
5

D
B6

P
SH

5
D

B6
N

SH
5

D
B7

P
SH

5
D

B7
N

SH
5

D
B9

P
SH

5
D

B9
N

SH
5

D
B8

P
SH

5
D

B8
N

SH
5

D
B3

N
SH

5

D
B1

5P
SH

5
D

B1
5N

SH
5

D
B2

P
SH

5
D

B2
N

SH
5

D
B3

P
SH

5

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

1 7Thursday, July 21, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

1 7Thursday, July 21, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

1 7Thursday, July 21, 2011

Drawn:

Engineer: K. Hsia

L. NguyenDrawn:

Engineer: K. Hsia

L. NguyenDrawn:

Engineer: K. Hsia

L. Nguyen

R1100 R1100

M
S

P

J21
FIFO_OSTR2M

S

P

J21
FIFO_OSTR21

2

TP29
GND PAD

TP29
GND PAD1

C275
DNI
C275
DNI

C261
DNI

C261
DNI

L30
0
L30

0

R154

0

R154

0

C258
DNI
C258
DNI

R101
49.9
DNI

R101
49.9
DNI

M
S

A
J1
IOUTD1
DNI

M
S

A
J1
IOUTD1
DNI

1

2345

R124

0

DNIR124

0

DNI

M
S

A

J4
IOUTC1
DNI

M
S

A

J4
IOUTC1
DNI

1

2345

U1B

DAC34H84

U1B

DAC34H84

D
A

C
C

LK
N

A
11

D
A

C
C

LK
P

A
12

D
A

TA
C

LK
P

G
2

D
A

TA
C

LK
N

G
1

IS
TR

P
H

2
IS

TR
N

H
1

O
S

TR
P

A
9

O
S

TR
N

B
9

P
A

R
IT

Y
P

N
8

P
A

R
IT

Y
N

P
8

IOUT4P
N14

IOUT4N
M14

IOUT3P
J14

IOUT3N
K14

IOUT2P
F14

IOUT2N
E14

IOUT1P
B14

IOUT1N
C14

S
Y

N
C

P
A

8
S

Y
N

C
N

B
8

DA0P
G4

DA0N
G3

DA1P
F2

DA1N
F1

DA2P
F4

DA2N
F3

DA3P
E2

DA3N
E1

DA4P
E4

DA4N
E3

DA5P
D2

DA5N
D1

DA6P
D4

DA6N
D3

DA7P
C2

DA7N
C1

DA8P
C4

DA8N
C3

DA9P
A1

DA9N
B1

DA10P
A2

DA10N
B2

DA11P
A3

DA11N
B3

DA12P
A4

DA12N
B4

DA13P
A5

DA13N
B5

DA14P
A6

DA14N
B6

DA15P
A7

DA15N
B7

D
B

0P
N

7

D
B

0N
P

7

D
B

1P
N

6

D
B

1N
P

6

D
B

2P
N

5

D
B

2N
P

5

D
B

3P
N

4

D
B

3N
P

4

D
B

4P
N

3

D
B

4N
P

3

D
B

5P
N

2

D
B

5N
P

2

D
B

6P
N

1

D
B

6N
P

1

D
B

7P
M

2

D
B

7N
M

1

D
B

8P
M

4

D
B

8N
M

3

D
B

9P
L2

D
B

9N
L1

D
B

10
P

L4

D
B

10
N

L3

D
B

11
P

K
2

D
B

11
N

K
1

D
B

12
P

K
4

D
B

12
N

K
3

D
B

13
P

J2

D
B

13
N

J1

D
B

14
P

J4

D
B

14
N

J3

D
B

15
P

H
4

D
B

15
N

H
3

R32
0

DNI

R32
0

DNI

R33 49.9DNI R33 49.9DNI

C265
3.3pF

DNI

C265
3.3pF

DNI

R152

0

R152

0

R34

0

DNIR34

0

DNI

L28
0
L28

0

R1080 R1080

R4

0

DNIR4

0

DNI

C272
3.3pF

DNI

C272
3.3pF

DNI

R97 49.9DNI R97 49.9DNI

L40
0
L40

0

C278
DNI

C278
DNI

T2

ADT4-1WT

T2

ADT4-1WT
3

2

16

5

4L34
0
L34

0

C267
DNI
C267
DNI

C259
DNI
C259
DNI

M
S

A
J5
IOUTB1
DNI

M
S

A
J5
IOUTB1
DNI

1

2345

R149

0

R149

0

R39
100
R39
100

C284
DNI
C284
DNI

R1110 R1110

L37
0
L37

0

T9

ETC1-1-13

T9

ETC1-1-13

6

43

1

R112 49.9DNI R112 49.9DNI

R16

0
DNI

R16

0
DNI

R1090 R1090

R12

0

R12

0

C3

.01uF

C3

.01uF

C4

.01uF

C4

.01uF

R123

0

DNIR123

0

DNI

M
S

A

J7
IOUTA2

M
S

A

J7
IOUTA2

1

2345

R22
49.9
DNI

R22
49.9
DNI

R100
49.9
DNI

R100
49.9
DNI

L42
0
L42

0

C255
3.3pF

DNI

C255
3.3pF

DNI

R41 49.9DNI R41 49.9DNI

L27
0
L27

0

R38
49.9
DNI

R38
49.9
DNI

M
S

A

J2
IOUTD2

M
S

A

J2
IOUTD2

1

2345

R30
49.9
DNI

R30
49.9
DNI

T8

ETC1-1-13

T8

ETC1-1-13

6

43

1

L36
0
L36

0

C256
3.3pF

DNI

C256
3.3pF

DNI

L41
0
L41

0

C269
DNI

C269
DNI

R25

0
DNI

R25

0
DNI

C252
DNI
C252
DNI

L38
0
L38

0

R122

0

DNIR122

0

DNI

C273
3.3pF

DNI

C273
3.3pF

DNI

TP8
GND
TP8
GND

C276
DNI
C276
DNI

C262
DNI
C262
DNI

C253
DNI
C253
DNI

R7
49.9
DNI

R7
49.9
DNI

R18

0

R18

0

TP32
GND PAD

TP32
GND PAD1

L33
0
L33

0

R14

0

R14

0

TP28
GND PAD

TP28
GND PAD1

L39
0
L39

0

C286
DNI
C286
DNI

M
S

P

J23
DACCLK2M

S

P

J23
DACCLK21

2 M
S

A

J3
IOUTC2

M
S

A

J3
IOUTC2

1

2345

R24
0

DNI

R24
0

DNIL32
0
L32

0

R5
100
R5

100

R35 49.9DNI R35 49.9DNI

R96 49.9DNI R96 49.9DNI

R1060 R1060
L31

0
L31

0

TP7
GND
TP7
GND

M
S

P

J22
DACCLK2_CM

S

P

J22
DACCLK2_C1

2

R36

0
DNI

R36

0
DNI

M
S

A

J8
IOUTA1
DNI

M
S

A

J8
IOUTA1
DNI

1

2345

TP30
GND PAD

TP30
GND PAD1

R99
49.9
DNI

R99
49.9
DNI

TP6
GND
TP6
GND

C283
3.3pF

DNI

C283
3.3pF

DNI

C279
DNI
C279
DNI

R10
100
R10
100

C264
3.3pF

DNI

C264
3.3pF

DNI

C266
DNI
C266
DNI

R102
49.9
DNI

R102
49.9
DNI

TP27
GND PAD

TP27
GND PAD1

C257
DNI
C257
DNI

C280
DNI
C280
DNI

TP34
GND PAD

TP34
GND PAD1

T11

ETC1-1-13

T11

ETC1-1-13

6

43

1

C268
DNI
C268
DNI

T1

ADT4-1WT

T1

ADT4-1WT

3

2

16

5

4

R98 49.9DNI R98 49.9DNI

T10

ETC1-1-13

T10

ETC1-1-13

6

43

1

C285
DNI
C285
DNI

R29
100
R29
100

R40
0

DNI

R40
0

DNI

R1070 R1070

R1040 R1040

C281
3.3pF

DNI

C281
3.3pF

DNI

R21
100
R21
100

TP31
GND PAD

TP31
GND PAD1

R37
100
R37
100

R6
100
R6
100

C270
DNI
C270
DNI

R125

0

DNIR125

0

DNI

C1

.01uF

C1

.01uF

C2

.01uF

C2

.01uF

C277
DNI
C277
DNI

R23
100
R23
100

C254
3.3pF

DNI

C254
3.3pF

DNI

R20

0
DNI

R20

0
DNI

T3

ADT4-1WT

T3

ADT4-1WT
3

2

16

5

4

TP33
GND PAD

TP33
GND PAD1

L35
0
L35

0

R13
0
DNI

R13
0
DNI

R9

0

R9

0

R94 49.9DNI R94 49.9DNI

C274
3.3pF

DNI

C274
3.3pF

DNI

R155

0

R155

0

L29
0
L29

0

C282
3.3pF

DNI

C282
3.3pF

DNI

C263
3.3pF

DNI

C263
3.3pF

DNI

R42

0

DNIR42

0

DNI

R31
100
R31
100

R1050 R1050

R28

0
DNI

R28

0
DNI

M
S

P

J20
FIFO_OSTR2_CM

S

P

J20
FIFO_OSTR2_C1

2

R15
100
R15

100

C271
DNI
C271
DNI

C260
DNI
C260
DNI

T4

ADT4-1WT

T4

ADT4-1WT
3

2

16

5

4

C251
DNI

C251
DNI

TP9
GND
TP9
GND

M
S

A
J6
IOUTB2

M
S

A
J6
IOUTB2

1

2345



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

Place as close
to the DAC as possible.

TXENABLE

EXTIO

ALARM

DAC_RESET
SLEEP

TESTPLLAVDD

+1.2VD

+1.2VDAC

+1.2VD +1.2VDAC

+1.2VCLK

+3.3VD

+3.3VA

+3.3VA

IO_LOGIC

+1.2VCLK

+3.3VD

IO_LOGIC

+3.3VA

IO_LOGIC

IO_LOGIC

+1.2VD

SDIO SH6

SCLK SH6
SDENB SH6

SDO SH6

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

2 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

2 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

2 7Tuesday, July 12, 2011

C45
.22uF
C45

.22uF

C10

.22uF

C10

.22uF

R46
1K
R46
1K

C27
.22uF
C27
.22uF

C51
.22uF
C51
.22uF

1
2

TP25TP25

C21

.22uF

C21

.22uF

C26
.22uF
C26
.22uF

C39

.22uF

C39

.22uF
1

2

C42
.22uF
C42
.22uF

1
2

C49
.22uF
C49
.22uF

1
2

R45 10R45 10

TP5
ALARMB

TP5
ALARMB

1.5K @ 100MHz

FB1

1.5K @ 100MHz

FB1

C44
.22uF
C44
.22uF

1
2

C20

.22uF

C20

.22uF

1
2

C31

.22uF

C31

.22uF

C18

.22uF

C18

.22uF

U1A

DAC34H84

U1A

DAC34H84

A
V

D
D

33
J1

1
A

V
D

D
33

H
11

A
V

D
D

33
G

11

A
V

D
D

33
D

10

A
V

D
D

33
F1

1
A

V
D

D
33

E
11

C
LK

V
D

D
K

12

D
A

C
D

V
D

D
D

9

DIGVDD
E5

DIGVDD
E6

DIGVDD
E7

DIGVDD
K7

IOVDD
D5

IOVDD
D6

IOVDD
G5

PLLAVDD
C11

GND
E13

GND
P14

GND
P13

GND
N13

VFUSE1
D7

EXTIO
G12

RBIAS
H12

SDO
P12

SDIO
P11

SDENB
P10

SCLK
P9

TXENABLE
N9

RESETB
N10

SLEEP
N11

ALARM
N12

PLLLF
D12

GND
M13

GND
M12

GND
M11

GND
M10

GND
M9

GND
M8

GND
M7

GND
M6

GND
M5

GND
L14

GND
L13

GND
L8

GND
K13

G
N

D
K

8
G

N
D

J1
3

G
N

D
J1

2
G

N
D

J9
G

N
D

J8
G

N
D

J7
G

N
D

J6
G

N
D

H
14

G
N

D
H

13
G

N
D

H
9

G
N

D
H

8
G

N
D

H
7

G
N

D
H

6
G

N
D

G
14

G
N

D
G

13
G

N
D

G
9

G
N

D
G

8
G

N
D

G
7

G
N

D
G

6
G

N
D

F1
3

G
N

D
F1

2
G

N
D

F9
G

N
D

F8
G

N
D

F7
G

N
D

F6

GND
E12 GND
E8 GND

D14 GND
D13 GND
D8 GND

C13 GND
C10 GND
C9 GND
C8 GND
C7 GND
C6 GND
C5 GND

B13 GND
B12 GND
B11 GND
B10 GND
A14 GND
A13 GND
A10

TESTMODE
L11

C
LK

V
D

D
C

12

PLLAVDD
D11

VFUSE2
L7

A
V

D
D

33
K

11

A
V

D
D

33
L1

0

D
A

C
D

V
D

D
E

9

D
A

C
D

V
D

D
E

10

D
A

C
D

V
D

D
F1

0

D
A

C
D

V
D

D
G

10

D
A

C
D

V
D

D
H

10

D
A

C
D

V
D

D
J1

0

D
A

C
D

V
D

D
K

9

D
A

C
D

V
D

D
K

10

D
A

C
D

V
D

D
L9

DIGVDD
F5

DIGVDD
J5

DIGVDD
K5

DIGVDD
K6

IOVDD
H5

IOVDD
L5

IOVDD
L6

IOVDD2
L12

C5

.22uF

C5

.22uF

C11

.22uF

C11

.22uF

1
2

C38

.22uF

C38

.22uF

C7

.22uF

C7

.22uF

C13

.22uF

C13

.22uF

+ C22
10uF
10V

+ C22
10uF
10V

R44 1.27KR44 1.27K

SW1

SW RESET

RESET
SW1

SW RESET

RESET
1
2

3
4

C34 .1uFC34 .1uF

C9

.22uF

C9

.22uF

C15

.22uF

C15

.22uF

C33

.22uF

C33

.22uF

TP1
GND
TP1
GND

C46
.22uF
C46
.22uF

1
2

C37 .1uFC37 .1uF

JP2
TXENABLE

(SHUNT 1-2)

JP2
TXENABLE

(SHUNT 1-2)

1

3
2

TP3
GND
TP3
GND

C35 1000pFC35 1000pF

TP26TP26

C41
.22uF
C41

.22uF

TP2
EXTIO
TP2
EXTIO

C12

.22uF

C12

.22uF

C47
1000pF

C47
1000pF

R133 0

DNI

R133 0

DNI

C28
.22uF
C28
.22uF

C25
.22uF
C25
.22uF

C48
.1uF
C48

.1uF

R295 0R295 0

C29

.22uF

C29

.22uF

C19

.22uF

C19

.22uF

TP4
TESTMODE

TP4
TESTMODE

C36
.1uF
C36
.1uF

+ C30
10uF
10V

+ C30
10uF
10V

R43 1KR43 1K

C43
.22uF
C43

.22uF

C17

.22uF

C17

.22uF

R232 0R232 0

C6

.22uF

C6

.22uF

C14

.22uF

C14

.22uF

+C40
10uF
10V

+C40
10uF
10V

C32

.22uF

C32

.22uF

+ C24
10uF
10V

+ C24
10uF
10V

C23

.22uF

C23

.22uF

1
2

C8

.22uF

C8

.22uF

C16

.22uF

C16

.22uF

JP3
SLEEP

(SHUNT 2-3)

JP3
SLEEP

(SHUNT 2-3)

1

3
2



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

TCXO_VCC

VC
C

_A
U

XI
N

EX
T_

LF
N

EXT_LFN

VC
C

_P
LL

EX
T_

LF
P

C
D

C
-P

R
IR

EF
+

EXT_LFP

VCC_VCO

CDCOUT\

C
D

C
-P

R
IR

EF
-

CDCOUT

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

SPI_MISO SH6

SPI_LE SH6

FPGA_CLKOUTNSH5
FPGA_CLKOUTPSH5

SPI_MOSI SH6
SPI_CLK SH6

DACCLK SH1
DACCLKC SH1

FPGA_CLKOUT2_PSH5

FPGA_CLKOUT2_NSH5

FIFO-OSTR SH4
FIFO-OSTRC SH4

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

3 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

3 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

3 7Tuesday, July 12, 2011

R48

1.1K

R48

1.1K

R167

10K

R167

10K

R51 82.5R51 82.5

JP5
REFSEL

(SHUNT 1-2)

JP5
REFSEL

(SHUNT 1-2)

1

3
2

R59
82.5
DNI

R59
82.5
DNI

C88

.01uF

C88

.01uF

C76

.01uF

C76

.01uF

C67

.01uF

C67

.01uF

U2
CDCE62005

U2
CDCE62005

VCC_IN_SEC
1

SEC REF-
2

SEC REF+
3

REG_CAP1
4

VCC1_PLL
5

U4P
6

U4N
7

VCC_OUT
8

VCC_OUT
11

S
Y

N
C

14

V
C

C
_A

U
X

O
U

T
15

U
2P

16

U
2N

17

V
C

C
_O

U
T

18

U
1P

19

S
P

I_
M

IS
O

22

SPI_LE
25

U0N
28

REF_SEL
31

VCC_VCO
34

P
LL

_L
O

C
K

37

E
X

T_
LF

P
40

A
U

X
 IN

43

U3P
9

U3N
10

PWRDWN
12

A
U

X
O

U
T

13

U
1N

20

V
C

C
_O

U
T

21

S
P

I_
M

O
S

I
23

S
P

I_
C

LK
24

VCC_OUT
26U0P
27

VCC_OUT
29TESTOUTA
30

VCC_OUT
32TEST_MODE
33

VCC_VCO
35GND_VCO
36

V
C

C
2_

P
LL

39

R
E

G
_C

A
P

2
38

E
X

T_
LF

N
41

V
C

C
2_

P
LL

42
V

C
C

_A
U

X
IN

44
P

R
I R

E
F+

45
P

R
I R

E
F-

46
V

C
C

_I
N

_P
R

I
47

V
B

B
48

G
N

D
_P

A
D

49

R65
82.5
R65
82.5

R63
130
DNI

R63
130
DNI

R72
150
R72
150

120FB12 120FB12

1K

FB7

1K

FB7

R68
130
DNI

R68
130
DNI

C55

.27uF

C55

.27uF

TP14
REF_ADJ

TP14
REF_ADJ

C79

4.7uF

C79

4.7uF

1KFB6 1KFB6

C64

10uF

C64

10uF

R121

0
DNI

R121

0
DNI

C83

4.7uF

C83

4.7uF

C87

4.7uF

C87

4.7uF

C70

.01uF

C70

.01uF

R47
82.5
R47
82.5

R56
82.5
DNI

R56
82.5
DNI

R130

0
DNI

R130

0
DNI

R64
82.5
R64
82.5

C56

.01uF

C56

.01uF

C69

.01uF

C69

.01uF

C66
4.7uF
C66

4.7uF

C74
4.7uF
C74

4.7uF

120FB5 120FB5

C81

4.7uF

C81

4.7uF

12
0

FB
3

12
0

FB
3

C59

4.7uF

C59

4.7uF

R120

0
DNI

R120

0
DNI

R165

10K
DNI

R165

10K
DNI

C73
.01uF
C73

.01uF

12
0

FB
9

12
0

FB
9

C128

4.7uF

C128

4.7uF

R61
130
R61
130

120

FB11

120

FB11

C82

.01uF

C82

.01uF

120FB13 120FB13

R55 0R55 0R54

22.1

R54

22.1

C65
.01uF
C65

.01uF

JP7JP7
12

120FB8 120FB8

C178
100pF
C178
100pF

C53
1000pF

10%
25V

C53
1000pF

10%
25V

M
S

P

J19
SYNC M

S

P

J19
SYNC 1

2

D1 LED green
LOCK

D1 LED green
LOCK

R129

0
DNI

R129

0
DNI

M
S

P

J10
CDC-IO2 M

S

P

J10
CDC-IO2 1

2

R60
130
R60
130

C61

4.7uF

C61

4.7uF

C71

4.7uF

C71

4.7uF

R71
150
R71
150

C84

.01uF

C84

.01uF

R62
130

DNI

R62
130

DNI

R69
130
DNI

R69
130
DNI

C57

.01uF

C57

.01uF

U17

TCXO 19.2MHz

U17

TCXO 19.2MHz

REF
1

GND
4

VDD
8 OUT

5

C77

.01uF

C77

.01uF

C80

4.7uF

C80

4.7uF

M
S

P

J12
CDC_IO1 M

S

P

J12
CDC_IO1 1

2

C68

4.7uF

C68

4.7uF

R58

22.1

R58

22.1

C89

4.7uF

C89

4.7uF

R93

0

R93

0

M
S

P

J11
CDC-IO2\ M

S

P

J11
CDC-IO2\ 1

2

M
S

P

J15
CDC_IO1\ M

S

P

J15
CDC_IO1\ 1

2
C52

4.7uF

C52

4.7uF

C180
.1uF
C180
.1uF

C58

.01uF

C58

.01uF

R57
130
DNI

R57
130
DNI

C78

.01uF

C78

.01uF

C85

4.7uF

C85

4.7uF

U16

TCXO 19.2MHz

DNIU16

TCXO 19.2MHz

DNI

EN
8

GND
4

VDD
9 OUT

5

120 FB10120 FB10

R50
130
R50
130

R95

0
DNI

R95

0
DNI

C127

.01uF

C127

.01uF

C75

10uF

C75

10uF

C72

4.7uF

C72

4.7uF

C60

4.7uF

C60

4.7uF

R117 0R117 0

R66
150
R66
150

+ C181
10uF
16V

+ C181
10uF
16V

R164

10K
DNI

R164

10K
DNI

R116 0R116 0

JP6

CDC_PD

(SHUNT 1-2)
JP6

CDC_PD

(SHUNT 1-2)

1

3
2

C63

1uF

C63

1uF

C86

.01uF

C86

.01uF

R88

0

R88

0

R67
150
R67
150

R53
130
DNI

R53
130
DNI

R52 301R52 301

C179
4.7uF
20%
4V

C179
4.7uF
20%
4V

1K
FB

4
1K

FB
4

1K

FB25

1K

FB25

JP4
PRIREF-

(SHUNT 2-3)

JP4
PRIREF-

(SHUNT 2-3)

1

3
2R166

10K

R166

10K

C182
.1uF
C182
.1uF

R103

130

R103

130

R49
49.9
DNI

R49
49.9
DNI

SMA

END
J9

EXT_REF_CLK
SMA

END
J9

EXT_REF_CLK
1

5234

C177

.1uF

C177

.1uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

VDD1

VBB

VDD1
+3.3VCLK

+3.3VCLK

+3.3VCLK

+3.3VCLK

FIFO_OSTRC SH1
FIFO_OSTR SH1

FIFO-OSTRSH3

FIFO-OSTRCSH3

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

4 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

4 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

CDC C

DAC34H8X EVM
B

4 7Tuesday, July 12, 2011

R92
150
R92
150

C104

4.7uF

C104

4.7uF
120

FB15

120

FB15

U6
CDCP1803

U6
CDCP1803

/IN
4

V
S

S
7

VDDPECL
5

Y1
15/Y1
16VDD1
17

VDD1
14

EN
1

VDDPECL
2

IN
3

VSS
13VBB

6

V
D

D
2

8

Y
2

9

/Y
2

10

V
D

D
2

11

N
C

12

S0
18

S
1

19
V

D
D

0
20

Y
0

21
/Y

0
22

V
D

D
0

23
S

2
24

P
W

R
P

A
D

25

R206
49.9
R206
49.9

1
2

C90

.01uF

C90

.01uF

C102

.01uF

C102

.01uF

R89
130
DNI

R89
130
DNI

C62

4.7uF

C62

4.7uF

C100

.01uF

C100

.01uF

C99

.01uF

C99

.01uF

R91
130
DNI

R91
130
DNI

R207
49.9
R207
49.9

1
2

R70

0

R70

0

C54

.01uF

C54

.01uF

1 2

R131

60.4K

R131

60.4K

C101

.01uF

C101

.01uF

R90
150
R90
150

C103

.01uF

C103

.01uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

***DCLK-P/N are topside traces

DATACLK-P
DATACLK-N

DCLKP

DCLK-P

DCLK-N

DCLKN

GC_+6.0VDCGC_+6.0VDC

FPGA_CLKOUTP SH3
FPGA_CLKOUTN SH3

DA5PSH1
DA5NSH1

DA4PSH1
DA4NSH1

DA3PSH1
DA3NSH1

DA2PSH1
DA2NSH1

DA1PSH1
DA1NSH1

DA0PSH1
DA0NSH1

DA7PSH1

DA6PSH1

DA7NSH1

DA6NSH1

DA13PSH1
DA13NSH1

DA12PSH1
DA12NSH1

DA11PSH1
DA11NSH1

DA10PSH1
DA10NSH1

DA9PSH1
DA9NSH1

DA8PSH1
DA8NSH1

DA15PSH1

DA14PSH1

DA15NSH1

DA14NSH1

SYNCPSH1
SYNCNSH1

FIFO_ISTRP SH1
FIFO_ISTRN SH1

PARITYP SH1
PARITYN SH1

DATACLKPSH1
DATACLKNSH1

DB5P SH1
DB5N SH1

DB4P SH1
DB4N SH1

DB3P SH1
DB3N SH1

DB2P SH1
DB2N SH1

DB1P SH1
DB1N SH1

DB0P SH1
DB0N SH1

DB7P SH1

DB6P SH1

DB7N SH1

DB6N SH1

DB13P SH1
DB13N SH1

DB12P SH1
DB12N SH1

DB11P SH1
DB11N SH1

DB10P SH1
DB10N SH1

DB9P SH1
DB9N SH1

DB8P SH1
DB8N SH1

DB15P SH1

DB14P SH1

DB15N SH1

DB14N SH1

FPGA_CLKOUT2_PSH3
FPGA_CLKOUT2_NSH3

Title

Size Document Number Rev

Date: Sheet of

INTERFACE C

DAC34H8X EVM
B

5 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

INTERFACE C

DAC34H8X EVM
B

5 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

INTERFACE C

DAC34H8X EVM
B

5 7Tuesday, July 12, 2011

C143
10uF
10%
10V

C143
10uF
10%
10V

1
2

J13C

ASP-122952-01

J13C

ASP-122952-01

GND
170

GND
169

GND
172

GND
171

102
102

104
104

106
106

108
108

110
110

112
112

114
114

116
116

118
118

120
120

122
122

124
124

126
126

128
128

130
130

132
132

134
134

136
136

138
138

140
140

142
142

144
144

146
146

148
148

150
150

152
152

154
154

156
156

158
158

160
160

101
101

103
103

105
105

107
107

109
109

111
111

113
113

115
115

117
117

119
119

121
121

123
123

125
125

127
127

129
129

131
131

133
133

135
135

137
137

139
139

141
141

143
143

145
145

147
147

149
149

151
151

153
153

155
155

157
157

159
159

C144
10uF
10%
10V

C144
10uF
10%
10V

1
2

Z_STANDOFF4

STANDOFF ALUM HEX 4-40 x .750

Z_STANDOFF4

STANDOFF ALUM HEX 4-40 x .750

Z_SCREW1

SCREW PANHEAD 4-40 x 3/8

Z_SCREW1

SCREW PANHEAD 4-40 x 3/8

SJP9
(SHUNT 1-2)

SJP9
(SHUNT 1-2)

1

3
2

SJP11
(SHUNT 1-2)

SJP11
(SHUNT 1-2)

1

3
2

Z_STANDOFF1

STANDOFF ALUM HEX 4-40 x .750

Z_STANDOFF1

STANDOFF ALUM HEX 4-40 x .750

R157
0

R157
0

Z_STANDOFF3

STANDOFF ALUM HEX 4-40 x .750

Z_STANDOFF3

STANDOFF ALUM HEX 4-40 x .750

Z_SCREW2

SCREW PANHEAD 4-40 x 3/8

Z_SCREW2

SCREW PANHEAD 4-40 x 3/8

J13B

ASP-122952-01

J13B

ASP-122952-01

GND
166

GND
165

GND
168

GND
167

42
42

44
44

46
46

48
48

50
50

52
52

54
54

56
56

58
58

60
60

62
62

64
64

66
66

68
68

70
70

72
72

74
74

76
76

78
78

80
80

82
82

84
84

86
86

88
88

90
90

92
92

94
94

96
96

98
98

100
100

41
41

43
43

45
45

47
47

49
49

51
51

53
53

55
55

57
57

59
59

61
61

63
63

65
65

67
67

69
69

71
71

73
73

75
75

77
77

79
79

81
81

83
83

85
85

87
87

89
89

91
91

93
93

95
95

97
97

99
99

J13A

ASP-122952-01

J13A

ASP-122952-01

GND
162

GND
161

GND
164

GND
163

2
2

4
4

6
6

8
8

10
10

12
12

14
14

16
16

18
18

20
20

22
22

24
24

26
26

28
28

30
30

32
32

34
34

36
36

38
38

40
40

1
1

3
3

5
5

7
7

9
9

11
11

13
13

15
15

17
17

19
19

21
21

23
23

25
25

27
27

29
29

31
31

33
33

35
35

37
37

39
39

SJP10
(SHUNT 1-2)

SJP10
(SHUNT 1-2)

1

3
2

Z_STANDOFF2

STANDOFF ALUM HEX 4-40 x .750

Z_STANDOFF2

STANDOFF ALUM HEX 4-40 x .750

Z_SCREW3

SCREW PANHEAD 4-40 x 3/8

Z_SCREW3

SCREW PANHEAD 4-40 x 3/8

R156
0

R156
0

Z_SCREW4

SCREW PANHEAD 4-40 x 3/8

Z_SCREW4

SCREW PANHEAD 4-40 x 3/8

SJP12
(SHUNT 1-2)

SJP12
(SHUNT 1-2)

1

3
2



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

CLK

DATA

CTRL_LE

OE

SDEN

SDIO

SDOB

U20 Configuration
JP7 
Default open (+3.3V)
1-2:  51.1K // 82K = 31.5K (+2.5V)
3-4:  51.1K // 19.6K = 14K (+1.8V)

74AVC2T245

OE    DIR    OPERATION

L      L         B -> A
L      H         A -> B

H      X         ISOLATION H      X          Z

74LVC125A

OE      A           Y     

H      H         H
H      L          L

L      X           Z

74LVC1G126

OE      A          Y

L      L           L
L      H           H

CDC_READ

USB RESET

IO_LOGIC

IO_LOGIC

+5V_USB

+5V_USB
IO_LOGIC

+3.3V_LOGIC

IO_LOGIC

IO_LOGIC

+3.3V_LOGIC

IO_LOGIC

IO_LOGIC

IO_LOGIC

SPI_MISO SH3

SPI_CLK SH3
SPI_MOSI SH3

SPI_LE SH3

SCLK SH2

SDENB SH2

SDIO SH2

SDOSH2

Title

Size Document Number Rev

Date: Sheet of

USB C

DAC34H8X EVM
B

6 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

USB C

DAC34H8X EVM
B

6 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

USB C

DAC34H8X EVM
B

6 7Tuesday, July 12, 2011

R86 100R86 100
JP12JP12

12

U5

74AVC2T245

U5

74AVC2T245

OE
2

GND
3

B2
4B1
5

VCCB
6

VCCA
7

A1
8

A2
9

DIR2
1 DIR1

10

C94
.1uF
C94
.1uF

C138
15pF
C138
15pF

R84 100R84 100

R75 22.1R75 22.1

R136 19.6KR136 19.6K

C136
1uF

C136
1uF

+ C93
4.7uF
20V

+ C93
4.7uF
20V

R78 22.1R78 22.1

JP11

(NO SHUNT)

JP11

(NO SHUNT)

1 2
3 4

R139 100R139 100

R80 22.1R80 22.1

C97
.1uF
C97
.1uF

68 OHM @ 100MHz

FB14

68 OHM @ 100MHz

FB14

C50
1000pF

C50
1000pF

R137 82KR137 82K

R87 100R87 100

JP8JP8
1 2

C98 .1uFC98 .1uF

R85 100R85 100

SW2

USB RESET

RESET
SW2

USB RESET

RESET
1
2

3
4

R77 22.1R77 22.1

R82 22.1R82 22.1

C92
.1uF
C92
.1uF

U4

74AVC2T245

U4

74AVC2T245

OE
2

GND
3

B2
4B1
5

VCCB
6

VCCA
7

A1
8

A2
9

DIR2
1 DIR1

10

C140
.1uF
C140
.1uF

C91
10nF
C91
10nF

JP9JP9
12

U10

74LVC1G126

U10

74LVC1G126

OE
1

A
2

GND
3 Y

4VCC
5

R74
10K
R74
10K

R138 100R138 100

R140 100R140 100

R73
10K
R73
10K

JP13JP13

12

U3

FT245RL

U3

FT245RL

USBDM
16

USBDP
15

VCCIO
4

NC1
8

RESET
19

NC2
24

OSCI
27

OSCO
28

3V3OUT
17

AGND
25

GND
7

GND
18

GND
21

TEST
26

PWREN
12

WR
14

D1
5

D7
6

D5
9

D6
10

TXE
22

D4
2

D3
11

RXF
23

D0
1

RD
13

VCC
20

D2
3

R135 51.1KR135 51.1K

C250
2.2uF
C250
2.2uF

C95
47pF
C95
47pF

74LVC125A

U9

74LVC125A

U9

3OE
10

1A
2

2OE
4

2Y
6

1OE
1 VCC

14

4A
12

3Y
8

4Y
11

4OE
13

3A
9

GND
7

2A
5

1Y
3

C137
.1uF

C137
.1uF

R83
10K
R83
10K

U20

TPS79601

U20

TPS79601

EN
1

IN
2

GND
3

OUT
4

NR/FB
5

GND
6

R134
30.1K
R134
30.1K

R79 22.1R79 22.1

C96
47pF
C96
47pF

C139
.1uF

C139
.1uF

R76 22.1R76 22.1

C141
.1uF
C141
.1uF

J14

USB_MINI_AB

USB
J14

USB_MINI_AB

USB

VBUS
1

D-
2

D+
3

ID
4

GND
5

GND1
6

GND2
7

GND3
8

GND4
9

R81 22.1R81 22.1
C142
.1uF
C142
.1uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

To use Step Down Converter only (DNI LDO's U12 ):

Install R145
DNI R146, R147
Change R148 to 820K
Change R151 to 180K

VCC_IN (+5V to +6V) VCC

VCC

+1.2VD

+3.3VA

+3.3VA

+3.3VD+3.3VA

+1.2VDAC

+3.3VCLK

+3.3VCLK +3.3V_LOGIC

+1.2VCLK

GC_+6.0VDC

VCC

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

7 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

7 7Tuesday, July 12, 2011

Title

Size Document Number Rev

Date: Sheet of

DAC C

DAC34H8X EVM
B

7 7Tuesday, July 12, 2011

R126
0
DNI

R126
0
DNI

C135
10uF

10V

C135
10uF

10V

1
2

C238
1uF
20%
25V

C238
1uF
20%
25V

TP17
+3.3VCLK
TP17
+3.3VCLK

TP13
GND
TP13
GND

C215
10uF

10V

C215
10uF

10V

1
2

R170
30.9K
R170
30.9K

1
2

TP19
+1.2VCLK

TP19
+1.2VCLK

R143
10K
R143
10K

R147

0

R147

0

C169
2.2uF
10%
10V

C169
2.2uF
10%
10V

JP10

(SHUNT 1-2)

JP10

(SHUNT 1-2)

1

3
2

C148

10uF

C148

10uF

1
2

C134
10uF
10%
10V

C134
10uF
10%
10V

1
2

C161
10uF
10%
10V

C161
10uF
10%
10V

1
2

C146

10uF

C146

10uF

1
2

Q1
FDC3616N

Q1
FDC3616N

7

4

12356

C170
1uF
20%
25V

C170
1uF
20%
25V

C164

1uF

C164

1uF

C243
10nF
C243
10nF

C167

22uF

C167

22uF

R153
182K
R153
182K

1
2

C237
10nF
C237
10nF

1K
FB24
1K
FB24

+C163
2.2uF

+C163
2.2uF

1
2

C242
10nF
C242
10nF

1K
FB34
1K
FB34

U12

TPS79633

U12

TPS79633

EN
1

IN
2

GND
3

OUT
4

NR/FB
5

GND
6

U13

TPS71701

U13

TPS71701

IN
1

EN
3

GND
2

OUT
5

NR/FB
4

R172

0

DNIR172

0

DNI

R148
750K
R148
750K

1
2

J18

CONN JACK PWR

J18

CONN JACK PWR
3
2
1

R221
174K
R221
174K

U11

TPS62420

U11

TPS62420

MODE/DATA
2

ADJ2
1

VIN
3

FB1
4

DEF_1 5

THERMPAD
11

SW2
10

EN2
9

GND
8

EN1
7

SW1
6

C145

10uF

C145

10uF

1
2

FB30

27uF

FB30

27uF

1

2

3

C245

10nF

C245

10nF

1K
FB35
1K
FB35

D2
Blue
+6V

D2
Blue
+6V

C112
.1uF
10%
16V

C112
.1uF
10%
16V

1
2

C240
2.2uF
10%
10V

C240
2.2uF
10%
10V

C111
1uF
20%
25V

C111
1uF
20%
25V

R316
330K
R316
330K

R145
0

DNI

R145
0

DNI

C133
10uF
10%
10V

C133
10uF
10%
10V

1
2

C149

10uF

C149

10uF

1
2

+
C152
47uF

10V
20%

+
C152
47uF

10V
20%

U15

TPS7A8001DRB

U15

TPS7A8001DRB

OUT1
1

OUT2
2

FB/SNS
3

GND
4NR

6

EN
5

IN2
7 IN1
8

PWRPAD
9

FB31

27uF

FB31

27uF

1

2

3

U22

TPS71701

U22

TPS71701

IN
1

EN
3

GND
2

OUT
5

NR/FB
4

R168
10K
R168
10K

1
2

TP15
+1.2VD
TP15
+1.2VD

C117
1uF
20%
25V

C117
1uF
20%
25V

C244
1uF
20%
25V

C244
1uF
20%
25V

TP18
+1.2VDAC
TP18
+1.2VDAC

C247
10nF
C247
10nF

C118
1uF
20%
25V

C118
1uF
20%
25V

C162

10nF

C162

10nF

68 OHM @ 100MHz
FB20

68 OHM @ 100MHz
FB20

L26

2.2uH

L26

2.2uH
1 2

C234
10nF
C234
10nF

R150
191K
R150
191K

1
2

C246
1uF
20%
25V

C246
1uF
20%
25V

TP16
+3.3VA
TP16
+3.3VA

C166

33pF

C166

33pF

TP12
VCC_IN 

TP12
VCC_IN 

U21

TPS2400

U21

TPS2400

NC1
1

GND
2

NC3
3

GATE
4

VIN
5

C233
10nF
C233
10nF

C147

10uF

C147

10uF

1
2

L25

2.2uH

L25

2.2uH
1 2

R315
330K
R315
330K

C165
22uF
C165

22uF

C116
.1uF
10%
16V

C116
.1uF
10%
16V

1
2

1K
FB22
1K
FB22

C155
10nF

C155
10nF

R146

0

R146

0

R151
150K
R151
150K

1
2

R128
0
R128
0

C154
1uF
10%
16V

C154
1uF
10%
16V

C153
.1uF
10%
16V

C153
.1uF
10%
16V

1
2

R127
0
DNI

R127
0
DNI

R257
174K
R257
174K


